o

dt
di

B

dt

I

EZE |

dt

I

@

npp——-

dt

I

|
n

nar \ sin % cosec 7, p/a?dqﬂc S

— o2
wVl—ce anetary
nar \ ,[ ’
#\/1 Mezk cosS U, %wy 101S
na?

V1 —e2{Rsinv %.B(cos v + cos &)},

-~ 2 sin? %‘?,-C-gﬂ&
- 3
T = 32{.__}2 cos v + B(l + _.,.) smv}
e
A8,
— COSZ—-E%-':
2na? ae 24/1 — &2
R sinv + Bas ¢ }r
T V1 —e2 r
3 nda
2 adt-



dw
di

dey
dt

di

d1
dt

ds
dt

ll

b
——

I

——
r——

5 (e Fae
u de )
na{l — e2) JR na\/l — ¢2 (88’% 8‘3‘1‘:)
T =
p.e 86 pe 36 gw
naV'1 — g2 08‘% na ; B
e de y.\/l—-é" a,n_,z,-;z-—,
nav'1l — e2oR na ?R
— — cot 1 —
(e ge V1 — e2 G
2na2 R naV'1 — &2 R
— — + (1 — \/1 — e2) 5
w ca Qe ce
; na ta
n i
[.L\/l — g2 B
_na CcOSec 1 o
V1 — e2 g
e {coseca;?i + tan L( ER—%-C%
p.\/l — g2 | 2% : 0@
_ M {cosec 7 EEE- cob 1 OQR

Plan etary

S

cHR

ci

)i



[,

0{,},;7[5 4@/72/- a1 0!3/47% p/ﬁf?(’/_"//
[ / ?mzrn'}’d/

” : Y p(”.{’f"ﬂc
PR syt
‘

bl VG s)= ~ L - E = 58] el

/£ ((m,éf— G,yf Coon ,'/;44.:) < (ce'/f/(/ ot /M;/5‘5‘>
:::‘.7 J- =

/

j /2074,7[3 )ﬂ/a?/'/é’é S Tz_ z >z j; w/ 1724

S /‘Q{r“%/r’éﬁ Paéﬂ%z@/»’

o %
Ulne)= — & = (F’“ (8)
2 z_
UP (P) @) = &W j—Z 1% <3465 d /)
2 N

Ex,prﬁ‘s [ 74’/’»”/75 cs‘?ﬁ ﬁf‘éz.?zﬁ’/ é/f/f”/ﬁf. S

fosa = S 5/ fw+/u) '(s;p}f/éc;a_/ %’rj)
! _ |+ecosV )T

%3 B Cﬁ' (1-¢%)

em T, RE (I+¢cos) 3( 350X )siaYarir) -

& /r g2 v = B
> Uf(// A ) ( = .';,3(1—1?2)3

| K=- UXO <( oshal Mé’c:/é?ﬂ/& S <owen ’40’4)



‘:;Ef’ %)C/ff’dy( U,o over: one cjr'g-ﬁ/

»
<R> = %’"ig!?a# /((ID/W'I‘.' g7 ¢ /‘)%'2

-y 2
= ! Kr
gEn
o

e e ZF‘% > - 43(/;2)3/2’

(ealeet) ) - e

24’3()-*52)
T, R
= — N Z 3 - '2/
7 <K> Zq*jﬂ,ez)?’/z (__ﬁ,.. i ! _— /)

gf) :Zf’j}e—> - (f}{j> =0 s LR> s net

141‘!674,'&}0 a‘[ -‘IZ) u{} ar 4/"

2 .
G)/Z> — =3~ TR ColI ! Aiae oL rodes r‘gfﬁ‘é’f

oAt 2 (<)
_ J ]
Jz. ;'Q.Z 1“4‘2;‘ I YIEA < 1 CEnTEr
(%;) = 2;26,591’(2’ %3‘ ) 52£€C€55€§ Lo e &3°

dm 543';[{2 2 . z. Mo n 0*"44':7[5 ﬂgsér
(-67;:> =77 24?26_61)3/@&” ..72-5,,, J Fhon /—’ff&r’? 35‘?‘ )



CZ%S{ Akety

| | uﬂ{ﬂﬁ”@r
da\ - an 6[9/a)le P/aﬁd‘ |
<“?>J -0 '
) -o
/),
<fi€> _ o,
!
J2
<dQ> B 3nJ-R;
#M;~]‘“ 2ar(1-e) CQSZ

372J‘7R" (2 __:S_ )
2a (1 — . ) Sln [

<de/£ > 3nJ5R; ( 3 .7.>
A= —n) = ]l —=sm"1],

2612(1 - 62)3/2 p)



